6932,
69351
6937/
6940/
6942,
69451
6947/
6950,
6952

Y=
Y=
Y=

X=9615(

=96150

+v
L
N

.
.
.

X Y Z -

124 | T-24 96011.630 69314.431 396.135 8_1/250

125725 96050.990 69362.748 3%5.702

126 | T-26 96059.870 69410.461 394.715

127|727 96066.248 69451.019 392.920

12828 96060.027 69477.059 391,501 e

305 [ NO.5 96037.018 69513.831 390.783 KBN.6

204 [ T-24-1 96070.655 69322.270 413.379 N

205 | T-24-2 96084831 69364.618 419551

206 | T-24-3 96087.597 59362.993 420.295 T A R T oL SL X Y

207 [T-24-4 96004.071 69402.919 422517

S Toaks I TR YT 2 96036804 | 69336.939

T-24- 6101.976 69462. 1 433..

210 [ T-24-7 96084710 69487414 422.281 IP. 1 ]34-10-04.75| 50.000 | 15.367 29.817 2.308 96051.867 | 69352.151

TS SO0 | SR80 - 1. 2 | 9-47-34.48] 100.000 | 8.57 | 17.02 | 0.366 | 96068.537 | 69441.658
W IP. 3 | 31-17-30.42 50.000 14.003 27.307 1.924 96068.887 69468.143

EP. 96042.558 | 69512.779

S et e o

o
e s e S L - “

/439/.18

e
X=96125 + + e V“‘”’%—\._\} \.\. P has fo L bodo -+ X Y reseid
oL T : BP(N0.0-5.0) 96036.804 | 69336.939
N0.0 96040322 | 69340.492
BC.1 96041.055 | 69341.232
N0.0+10.00 96046.756 | 69348127
.1 96049.622 | 69353.222
A No.1 96051.553 | 69356882
N0.1+10.00 96054.516 | 60366.415
EC.1 96504.681 | 69367.258
N0.2 96056.354 | 69376.245
N0.2+10.00 96056.185 | 69386.076
N0.3 96060.016 | 69395.907
N0.3+10.00 96061.847 | 60405.738
N.4 96063.678 | 60415.569
N0.4+10.00 96065.509 | _69425.400
L BC.2 96066.968 | 60433.236
PPy N0.5 96067.320 | 60435.234
~ L T Y T T YTy 5p.2 96068.173 | 69441.604
s oLlL N0.5+10.00 96068.455 | _60445.165
- N EC.2 96068.650 | 60450.224
S e S e S +  [ecs 96068.702 | 6os54.141 [0}
- N0.6 96068.705 | _60455.161
N0.6+10.00 96067.637 | 60465.087
N .3 96067.028 | 60467.649
N N0.7 96064.618 | 60474.602
‘. EC.3 96061772 | 60480.204
\. N0.7+10.00 96050.886 | 60483.403
N N0.8 96054.805 | 69492.016
) N0.8+10.00 96049.725 | 69500.620
In0.8+16.00 96046.676 | _69505.797
N0.9 96044.644 | 69500.242
EP(N0.9+4.105) | 96042558 | 69512.779

X=96074

706.8
SENNNRARREE TTITTITIT ’
| 2 +1 0 NO.6 NN @v-ok W:SkN
. i 0 _ A =0kN T-24-8
=% *392.77 SN T E—oka __/E <
T-27 ~ =
&

2] [=1k=3
© | @
S v o
w0 e

3
& o5
B s
R =

X=9605(

L=26.00m A=216.57m2

L=10.77m A=86.90m2

L=8.50m A=39.57m2 L=7.20m A=36.37m2

. v e
9 L=4.0m 5
2 3
g | | L=146.5m s
3 L=12.32m l
H=2.5m R2
L=11.32m
l L L=88.76n )
| L=11.75m | 1‘ L:6.3' 2 L=27.86m |
L Jﬁ J (H=2.500m) L=14.40m,
; H=2.0m _ (#=2]om) (H=3.0m) L=27.36m
— T=5.80m L - ” + + (kJ) + + L=15.40m +'
4 L=25.90m
ls_| L 50 L v s | §-1:250 ‘ ‘ 1 2
51 300 L=2.00n :
8 8 2 g 8 301 8 e g _




2€9706€

0€L"06€

128706

Sv0°T6€

STy 16€

088°T6€

LyeTz6e

208°26€

¥ E6E

609°€6€

G60°¥6E

295 ¥6€

256716

€9€°56¢

G29°56€

29L756¢

018°56¢

G98°56€

888756

£68°56€

T16°56¢€

901" ¥8T

000°9.T

000°0LT

000°09T

000°0ST

000°0¥T

000°0€T

000°02T

000°0TT

000°00T

000°0T

o

£OT"7+6)d3

0°9T+8"ON

OT+87ON

OT+L7ON

OT+97ON

0T+ ON

OT+¥"ON

OT+E7ON

0T+Z ON

OT+T"ON

OT+0"ON

(0°5-0)dg

TP.1
1A=34-10-05

1.924

St:

385.000

DL=:




$=1/100

NO.0+10.0

(H=2.500m)

(H=2.000m)




NO.3+10.000
6H=394.952
FH=

400.400

DL=380.000

(No.3+10)




400.200

6 450

NO.4

GH=394.562
FH=

394.50

DL=380.000

R2




NO.5

R2

6H=393.609
FH=
R
\ \ \
‘ ‘ 5.05 n? |
\\\\\ Y 400.800
\ ‘ !“
Y
\\\\\‘ \
N
\\ \
N
\\\\\ 5 900
\
393.61
»
|
7 612
1
DL=380.000




NO.6+10.000

6H=392.347
FH=

402.400

DL=380.000

(No.6+10)




DL=380.000

NO.7
6H=391.880
FH=

(t=5cm)




NO.7+10.000

GH=391.415
FH=

(t=5cm)

405.000

DL=380.000

(No.7+10)

B




NO.8

H=391.045
FH=

DL=380.000




NO.8+10.000
6H=390.821
FH=

DL=380.000

(No.8+10)

‘11




NO.8+16.000
GH=390.730
Fliz

DL=380.000

(No.8+16)

‘12




DL=385.000

2

(H=2.500m) L=14.40m
5

L=15.40m

10.90

NO.6+16.00

NO.7+10.00

405.000

L=8.50m A=39.57m2

NO.3+11.20
NO.4+16.90

DL=385.000

L=10.77m
A=86.90m2

L=26.00m A=216.57m2

6.63

NO.6+16.00
NO.7+10.00

o
~
©
<
©
=
E

DL=385.000

D10 L=20cm

ock=15N/mn2 (1.5 /m2)

@50mm
(1.0 /3.0m2) @©2.0*50*50

D16 L=40cm
0.3 /m2)

NO.8+16.00




SD345 D19
L=6008500

\ 1.118>H mz\

C2-B300

H*0.522+0.228+0.038

1.044*(H-0.550)+1.550

1.044*H-0.574
t=10mm,10m 1
VP65,3.0m2 1

t=5cm




17,18,19

L=2.0m

2.0x2.0=4.0 m2

=6.0

302.0:

X

3@2.0=6.0

L=6.0 m

6.0m

6.0x6.0=36.0 m2

3@2.0:

9
120.0m2 160.0 m2

(2x2-0.5x12

3x7  ZA/0 12¢p

3x7 ZA/0 12¢p

3x7  ZA/0 12¢p
1002.0=20.0

3x7 ZA/0 12¢p
L@ ()
ZA-300

L2 R )
ZA-300
20.0x6.0=120.0 m2

D22(N20)X1000

L=20.0 m

D22(M20)x1000

D22(M20)x1500

D22(M20)x1500
114_3cpx4.5-1630
4PL-4.5  x200x400
114_3cpx4.5-1630
4PL-4.5  x200x400

50x95

50x95

3.2tx92




=4.0
=4.0

202.0;
2@2.0;

%

202.0=4.0

L=2.0m

2.0x2.0=4.0 m2 4.0x2.0=8.0 m2 202.0=4.0

L=4.0 m

.0=16.0 m2

6.0

302.0;

=4.0

262.0:
=6.0m

10.0

302.0;

5@2.0:

402.0=8.0

L=8.0 m

8.0x4.0=32.0 m2

2@2.0=4.0

=6.0

L=6.0 m

3@2.0:

2x8.0+4x6.0=40.0 m2

12
(2x2-0.5x12 ) 16.0m2 508.0 m2

X7 ZA/0 12¢p

@ X7 ZA/0 12¢p
302.0=6.0

37 ZAO 12

1=22.0m i 37 ZAO 12

L2 (E )
ZA-300

D22(M20)x1000

D22(M20)x1000

12.0
28.0
36.0 D22(M20)x1500

48.0 114.3px4.5-1630

192.0 4PL-4.5 x200x400

114.3px4.5-1630

44-0 4PL-4.5 x200x400
20.0

50x95
16.0

12.0 50x95

D22(M20)x1500

408.0 m2 3.2tx92




4.0m

202.0;

2.0

L=2.0m
2.0x4.0=8.0 m2

2@2.0=4.0m

O

2@2.0=4.0

2.0

4.0%4.0=16.0 m2

X

2.0 202.0:

4.0m

10

g g

SRR

=4.0m

202.0;

/
/
X X

5@2.0=10.0

L=14.0 m

10.0x10.0+2.0x6.0+2.0x4.0=120.0 m2

=18.0m

9@2.0:

=10.0m

5@2.0;

602.0=12.0

L=12.0 m

3@2.0=6.0

L=10.0 m

4.0x2.0+8.0x2.0+6x18.0=132.0 m2

15 1
(2x2-0.5x12 ) 8.0 m2

37 ZAO 12

\ 13.0 %

37 ZAO 12

\ 12.0 /m

X7 ZA/0 12¢p

X7 ZA/0 12¢p

Tag »

L2¢  (E)
ZA-300

L2 R )
ZA-300

\f

D22(120)x1000

D22(120)x1000

D22(120)x1500

D22(M20)x1500

114.3x4.5-1630
4PL-4.5 x200x400

114.3x4.5-1630
4PL-4.5 x200x400

50x95

50x95

3.2tx92

12.0x10.0=120.0 m2




58,60,61,73

X

X

202.0=4.0

®

402.0=8.0

=8.0

402.0:

®

X
®

202.0=4.0

L=26.0 m

14.0x 8.0

24.0x 2.0

22.0x 2.0

20.0x 20

22.0% 4.0

15.0x 2.0

10.0x 4.0

8.0x 2.0

=10.0

2@2.0;

=8.0

402.0:

3@2.0=6.0

L=6.0 m

(2x2-0.5x12

0
412.0 m2

8.0x6.0=48.0 m2

4
156.0 m2

2.0

30,33,34,39

b

b

L=2.0m

2.0x2.0=4.0

m2

=6.0

302.0;

=4.0

202.0;

3@2.0=6.0

L=16.0 m

620.0 m2

/
/

Vase |’
T

A0 12¢

\ 269.0 /v

\ 42.0 %

ZA/0 12¢p

\ 72.0 /m

ZA/0 12¢p

\50.0/m

\72.0/ m

D22(M20)x1000

D22(1120)x1000

D22(1120)x1500

D22(1120)x1500

114.3¢px4.5-1630
4PL-4.5 x200x400

114.3¢px4.5-1630
4PL-4.5 x200x400

50x95

50x95

3.2tx92

6.0x 2.0

12.0

10.0x 2.0

20.0

12.0x 2.0

24.0

12.0x 6.0

72.0

10.0x 2.0

20.0

4.0x 2.0

8.0

156.0 m2




3*7 ZA/0 12¢q

E 12¢p -800

M22*325

(@)
D22(}M20)x1500

50 * 95




Y=6932!
26935

=96150

26937
Y=6940f
¥=69424

+

4*7 Y;

X=96125 +

~ T ITIVYTT
-T2
1526100,

E"‘W’V

v e

~
Gao a{y‘l
S
ot o \
\\ g
56075 g
o
«412.49 /
. <79
+410.. (
*411.7
+409, | f +409.73
407
+405.84
+4D4.86
\
407
\\
[ B\ \
6.22 T8 \\
A
X=9gf50 400.89

X=96025

=69325
269350

Y:
v:

o T s
o v e S
.,

LT
e (N
s o K

~

Sa
o o 42872 Sewes = % ~

[
Yoo e =

o TPE2

44q.68

444,

43

()
()

69451

4+7 ¥;

430.60

2.00m

H

6947/

+

3x76/0 12¢p

3. 2X50x50

o

T T LTI T LI TITLT

R:
C.2
i;\\o_d’fﬂ K

R
10.858

WA+

69375
69400
69425

V=
V=
V=

69450

v;

P
303.54 T-27
G
ol o
)
S ]
) <
=
o o
o =)
E: w =
T

43362

3

v;

2 g
¥ i
% %=9615
S$=1:100
2.5m
H=2.00m L=30.00m
X=9612:
@3.2x50x50 3X76/0 12¢p
Z-Gs2  2.5m
S
<
o
i
ES
&
H=2.00m 30.00m
oo 75.0 2.5%30.0
3x76/0 12¢p 128.0 30.0x4+8.0
R X=96101
12¢p 32 4x4x2
%7 ¢ 418.96
[7 15
422.9
o JP19 “p16.22
. 4h3.50) 30} 24
2422.14
T-24-7, 21 1)
04.48
) X=9607:
TP14
5
02//8
=
“.
40191
“o
“
4037
-
S
3
N .84
<400.0" =N\
-401 >
2. iD..w h)
3 (o
I )
N
v
e X=9605¢
~ 390.15
NS/
&p,
9 3
.59
As
1
‘ 20 20

69500

V=t




